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How much is each present worth?

£19

\

T |

£14

£18

Working out space:
] [ ¥ %] [

- W R L@ A

|- [ ][] 5]

‘ Working out space:

£24

£24

£22




£40

[ F‘ﬁ £32
— L _ —
o o ‘ o
F‘fT" r‘f?' F‘f?‘ £3]
N I N N I

h,
"ii\

ag)
N
(N

),
.'ii‘\
1]

Working out space:

| || | ] | # ]
3 L
||| ||| &[]
@ | || ||| P
28 33
_ N2 o:@li )

Working out space:



javascript:edit(28898)
javascript:edit(28898)
javascript:edit(28898)
javascript:edit(28898)
javascript:edit(4396)
javascript:edit(4397)
javascript:edit(4397)
javascript:edit(4396)
javascript:edit(4397)
javascript:edit(4397)
javascript:edit(28898)
javascript:edit(4397)
javascript:edit(28898)
javascript:edit(4396)
javascript:edit(4396)
javascript:edit(4396)
javascript:edit(28898)
javascript:edit(4397)
http://clipart.magicpeople.org/img/dec/gift2.ai
http://clipart.magicpeople.org/img/dec/gift2.ai
http://clipart.magicpeople.org/img/dec/gift2.ai
http://clipart.magicpeople.org/img/dec/gift2.ai
http://clipart.magicpeople.org/img/dec/gift2.ai
http://clipart.magicpeople.org/img/dec/gift2.ai

